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1. Let

P=(-1,0),Q = (0,0)andR = (3, 3/3)



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
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be three points. The equation of the bisector

of the angle PQR (1) 3z +y=0 (2

3 3
w+§y=0 3) %my:o (4)
T+ /3y =0

o Watch Video Solution

2. Let A(h, k), B(1, 1) and C(2, 1) be the vertices
of a right angled triangle with AC as its
hypotenuse. If the area of the triangle is 1,

then the set of values which k can take is given


https://dl.doubtnut.com/l/_NN8z3gGwGyQK
https://dl.doubtnut.com/l/_dLMZrrcdZaRR

{ o 37 o 2}

° View Text Solution

3. The perpendicular bisector of the line
segment joining P (1, 4) and Q (k, 3) has y-
intercept —4 .Then a possible value of kis (1) 1

(2)2(3) —2(4) —4

o Watch Video Solution



https://dl.doubtnut.com/l/_dLMZrrcdZaRR
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4. The lines p(p2 + 1):(: - y+q=0 and
(p2—|—1)2:13—|— (p2+1)y—|—2q:0 are
perpendicular to a common line for (a) no
value of p (b) exactly one value of p (c) exactly

two values of p (d) more than two values of p

o Watch Video Solution

Y

5. The line L given by %Jr b 1 passes

through the point (13, 32). The line K is parallel

to L and has the equation z + % = 1 Then
c


https://dl.doubtnut.com/l/_FumMcTFSgD14
https://dl.doubtnut.com/l/_bTO6DIt5BoAp

the distance between L and K is (1) /17 (2)

17 3 2 4 2
\/_ V1T /15

o View Text Solution

6.Thelines Li:y—x =0and L2:2x +y =0
intersect the line L3:y+2 =0 at P and Q
respectively . The bisectors of the acute angle
between L; and Ls intersect L3 atR.
Statement 1 : The ratio PR : RQ equals
2y/2:4/5

Statement - 2 : In any triangle , bisector of an
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angle divides the triangle into two similar

triangles .

° Watch Video Solution

7. If the line 2o 4+ y = k passes through the
point which divides the line segment joining

the points (1, 1) and (2, 4) in the ratio 3 : 2,

29 11
then k equals (1) 5 (2) 5(3) 6 (4) 5

o Watch Video Solution
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8. A line is drawn through the point (1, 2) to
meet the coordinate axes at P and Q such that
it forms a triangle OPQ, where O is the origin.
If the area of the triangle OPQ is least, then

the slope of the line PQ is

o Watch Video Solution

9. A ray of light along = + /3y = /3 gets
reflected upon reaching x-axis, the equation of

the reflected rays is (1) \/gy =T — \/§ (2)


https://dl.doubtnut.com/l/_bLmJOyWFTpMc
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y=+3z-v3 ) Viqy=z-1 4

Y=+ /3

° View Text Solution

10. The x-coordinate of the incentre of the
triangle that has the coordinates of mid
points of its sides as (0, 1), (1, 1) and (1, 0) is (1)

2—v22)1+236)1—v24) 2+ 2

o View Text Solution
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11. Let PS be the median of the triangle with
vertices P(2,2),Q(6, — 1)andR(7,3) . The
equation of the line passing through (1, — 1)
and parallel to PS is (1) 4 — 7y — 11 = 0 (2)
2r +9y+7=0 (3) 4dr+T7y+3=0 (4)

2¢ — 9y — 11 =0

o View Text Solution

12. Two sides of a rhombus are along the lines,

x—y+1=0and Tz —y—5=0 . If its
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diagonals intersect at ( — 1, —2) , then
which one of the following is a vertex of this

rhombus ?

o View Text Solution
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